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Sub questions

Question Number : 1 Question Id : 68634039701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el & FOio & 81U IR &R 1Y @ 87
1. 1ol &1 fasdr
TS vomret

| )

3. g 31 gigdem
4. IRTSHAl

Options :

686340156801. 1
686340156802. 2
686340156803. 3
686340156804. 4

Question Number : 2 Question Id : 68634039702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR e ogl ®i 3Fa! fBara g
1. d8g

i

4, AoHIR

[#¥]

Options :

686340156805. 1
686340156806. 2
686340156807. 3
686340156808. 4

Question Number : 3 Question Id : 68634039703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fors w1 & Wedl & A garad -
1. AigA-a-gsf
2. 9<lTg Ud SXAHIEE
3. givamn
4. 31 DI Sl e

Options :

686340156809. 1
686340156810. 2
686340156811. 3
686340156812. 4

Question Number : 4 Question Id : 68634039704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YN DI GSBI SR el & (R D1 TF B D AT 1 S1B1 82
1. TR-FTeH
 YeeR-Te] Biai!

3. %8ex

| ]

4. STAHEIE & [0S Ut & TR

Options :

686340156813. 1
686340156814. 2
686340156815. 3
686340156816. 4

Question Number : 5 Question Id : 68634039705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

«3RTSP AT e B T3 &1 BI-91 &9 W ¢ -
1, Uadl=s
 SIfdarEa®

| o]



Options :

686340156817. 1
686340156818. 2
686340156819. 3
686340156820. 4

Question Id : 68634039700 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634039701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y3l 8 e & 819 W1 91 819 ofd ©2
1. Tferl &1 fadR
. Firs gummeit

[ ]

3. g 31 gigdem
4. IRTSHAl

Options :

686340156801. 1
686340156802. 2
686340156803. 3
686340156804. 4

Question Number : 2 Question Id : 68634039702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. d8He

| ]

 SEAHEEIE
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[#¥]

Options :

686340156805. 1
686340156806. 2
686340156807. 3
686340156808. 4

Question Number : 3 Question Id : 68634039703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
firs @ & 2eRi & 1 Farsi -
1. Ag-S-g31
2. d4l7¢ U SEAEIElg
3. giamn
4. G5! 1 ATgl-HieT FHareH

Options :

686340156809. 1
686340156810. 2
686340156811. 3
686340156812. 4

Question Number : 4 Question Id : 68634039704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YN DI GSBI SR el & (R D1 TF B D AT 1 S1B1 82
1. TR-FTe
YR BiaiHT

3. G3ex

| ]

4, SEATHIEIE & [0S el & I8

Options :



686340156813. 1
686340156814. 2
686340156815. 3
686340156816. 4

Question Number : 5 Question Id : 68634039705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“RTHl Tec H 931 B -9 &9 T § -

1. HIGdaDH
2. WifdaE®
3, EfadaE®
4, GEd S

Options :

686340156817. 1

686340156818. 2

686340156819. 3
686340156820. 4

Sub-Section Number : 2
Sub-Section Id : 6863401305
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYRIYd UgadH aHi a=31 & 91y 7ifd dic 7471 3Rgifdd Yes § 9H &7

1. §gsie
2. gy

3. dg3y
4.%a

Options :

686340156821. 1
686340156822. 2
686340156823. 3
686340156824. 4

Question Number : 6 Question Id : 68634039706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QYEYG Ygddr 21 el & 91y 71T Sie 71 19ifed Ies § 9 22

1. 9gsilfe
2. LTI

3. g2y
4.%4

Options :

686340156821. 1
686340156822. 2
686340156823. 3
686340156824. 4

Question Number : 7 Question Id : 68634039707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"ER U SURd §5" & Ydifchd Wsg I SURF 7
1. fyd

2.3d

3.4

4.9d
Options :
686340156825. 1
686340156826. 2

686340156827. 3
686340156828. 4

Question Number : 7 Question Id : 68634039707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR U SURYd §5" & Ydifchd Weg I SURMI 37
1. Ryg
2. 3G
3. 34
4.5

Options :



686340156825. 1
686340156826. 2
686340156827. 3
686340156828. 4

Question Number : 8 Question Id : 68634039708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP D! Ul =0l bR Adlied SR Tl 3R SRR 8 dax o= Sl 39 o § Widd a9y §-

A TSDHI
B. BRI
C. dlJllX

D. Irdiie®d
E. 4§

4 fau T fased! & 9 96l 3R &1 95 Bl
1.$AAA.B.C
2. $4dAB.C.D
3. HAdC.D.E
4. FIAA.C.E

Options :

686340156829. 1
686340156830. 2
686340156831. 3
686340156832. 4

Question Number : 8 Question Id : 68634039708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A TSHI
B. YHR]
C. R
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E 4§
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3. %4 C. D.E
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Options :

686340156829. 1
686340156830. 2
686340156831. 3
686340156832. 4

Question Number : 9 Question Id : 68634039709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N ygur ol W veid gide yid §1 e 81 F ynur e R e

1. doiiH

5

[ ]

dgya
3. 399
4, 3RE]

Options :

686340156833. 1
686340156834. 2
686340156835. 3
686340156836. 4

Question Number : 9 Question Id : 68634039709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. deldHq

L
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. dgyd
3. S99
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Options :

686340156833. 1
686340156834. 2
686340156835. 3
686340156836. 4

Question Number : 10 Question Id : 68634039710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

are fgm! Bt e o1 gel 3 29

[ T

1. foa®t & el T

[ ]

 §HR Bl G T
R e R DI EI
 Td e 9 1@ a1

¥ V]

=

Options :

686340156837. 1
686340156838. 2
686340156839. 3
686340156840. 4

Question Number : 10 Question Id : 68634039710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tie gt ©f cogrd & Jat 3 2
1. raai &t thaedl am=n

[ ]

 SHR Bl G G
3. Oege i 9l &
4, el (ae! | 0@ T

Options :



686340156837. 1
686340156838. 2
686340156839. 3
686340156840. 4

Question Number : 11 Question Id : 68634039711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

16+4x4 —3+2 T T J1d BIST
1.0
2. —4
3.6
45155
Options :
686340156841. 1
686340156842. 2

686340156843. 3
686340156844. 4

Question Number : 11 Question Id : 68634039711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

16+4x4 —3+2 T HH J1d B0
1.0
;I
3.6
4.15

Options :

686340156841. 1
686340156842. 2
686340156843. 3
686340156844. 4

Question Number : 12 Question Id : 68634039712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I
P
by
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3. 3.84

4.3.06

Options :

686340156845. 1
686340156846. 2
686340156847. 3
686340156848. 4

Question Number : 12 Question Id : 68634039712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80 cm * 60 cm * 75 em fAH1SH GTQ Tl @1 U F&ad €791 91 © | FSea 91 & foru fasa=n mn (m2 1)

I
P
P
(=}

4.3.06

Options :

686340156845. 1
686340156846. 2
686340156847. 3
686340156848. 4

Question Number : 13 Question Id : 68634039713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U W faebdl - 2 6.000 & Id WGIc | 3 40% & 25% TH U, 3177 40% T 15% Y R aU1 9 99
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1.21%

| B}

. 19%

. 18%

LFN]

4.18.5%

Options :

686340156849. 1
686340156850. 2
686340156851. 3
686340156852. 4

Question Number : 13 Question Id : 68634039713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U W faebdl - 2 6.000 & Id WGIc | 3 40% & 25% TH U, 3177 40% T 15% Y R aU1 9 99
10% ST UR & | 3@ a1y 9id<id i Sifeiy|

1.21%

| B}

. 19%

. 18%

[FN]

4.18.5%

Options :

686340156849. 1
686340156850. 2
686340156851. 3
686340156852. 4

Question Number : 14 Question Id : 68634039714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156853. 1
686340156854. 2
686340156855. 3
686340156856. 4

Question Number : 14 Question Id : 68634039714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol Teretl 1 9. ugd! ST gOR SRl i gl © T iRl Sl @l [Tl § | 579eb b Hl T Sied
/681 SN &

e

b

|

8.4,

|

3.12.6.4
4. 18,12, 6

Options :

686340156853. 1
686340156854. 2
686340156855. 3
686340156856. 4

Question Number : 15 Question Id : 68634039715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. 34 9%s
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Options :

686340156857. 1
686340156858. 2
686340156859. 3
686340156860. 4

[ ]

Question Number : 15 Question Id : 68634039715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U XS] S 90 ke/heb! 71T 1S 361 &, 400 H @iiall U 3177 XeHTIS! &1 off FHIFR YRl TR 80 km/h
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RS
3.349%s
4.36 9bhs

Options :

686340156857. 1
686340156858. 2
686340156859. 3
686340156860. 4

| )

Question Number : 16 Question Id : 68634039716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT He gd fomn 31 3R 2. afe 8 270° TS o1 § o S99 1o fFa fazn &t sir e
1. 3R

. &igmor

3. ufgw

| E)

4. FTR U Sfém

Options :

686340156861. 1
686340156862. 2
686340156863. 3
686340156864. 4

Question Number : 16 Question Id : 68634039716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 g Ud famn &1 3R 3. afd 98 270° §3 WIdl § o 3@ 48 fow G &1 3R g
1. SR
. f&or
3. Oy

[ ]

4, 3R 3Uar Sfém

Options :

686340156861. 1
686340156862. 2
686340156863. 3
686340156864. 4

Question Number : 17 Question Id : 68634039717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<t TS 4% BT Ul U 4Z, 5V, 6X. TW, ST

1.13 M

| B

13P

LN ]

130Q
4.13N

Options :



686340156865. 1
686340156866. 2
686340156867. 3
686340156868. 4

Question Number : 17 Question Id : 68634039717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& TS 4T BT STl UG 4Z. 5Y. 6X. TW. ST

113 M

|

13P

L]

13Q
4.13N

Options :

686340156865.
686340156866.
686340156867.
686340156868.

AW N —

Question Number : 18 Question Id : 68634039718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 7TE 3Tpfd H x BT HA T BT (O - R W1 H=8)

2. 50°

L]

n

_n
(=]

4. 65°

Options :

686340156869. 1
686340156870. 2
686340156871. 3



686340156872. 4

Question Number : 18 Question Id : 68634039718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7S pfa Hx B AA T ST (0 - R TR Tu o d=®)

2. 50°

Lad
N

4, 65°

Options :

686340156869. 1
686340156870. 2
686340156871. 3
686340156872. 4

Question Number : 19 Question Id : 68634039719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZOOM 1 138 & ®Is H forar a1 € af fhgdT dis 72 81

1. ROOT

|

. TAGH
3. TOST

4. TOOE.

Options :

686340156873. 1
686340156874. 2
686340156875. 3
686340156876. 4



Question Number : 19 Question Id : 68634039719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZOOM 1 138 & BIs T forar a1 € af {1 ®is 72 8

1. ROOT

| B

. TAGH
3. TOST

4. TOOE.

Options :

686340156873. 1
686340156874. 2
686340156875. 3
686340156876. 4

Question Number : 20 Question Id : 68634039720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2,7, 14,23, 34, J9gad e TADHR 4Tl Dl R DY

4. 62

Options :

686340156877. 1
686340156878. 2
686340156879. 3
686340156880. 4

Question Number : 20 Question Id : 68634039720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2,7, 14,23, 34, J9gad e TADHR 4Tl Dl R DY

4.062

Options :

686340156877. 1
686340156878. 2
686340156879. 3
686340156880. 4

Question Number : 21 Question Id : 68634039721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd B Ugdl 348 T §341 T .

1. 1950

| )

. 1951
3; 1952
4. 1947

Options :

686340156881.
686340156882.
686340156883.
686340156884.

AW N —

Question Number : 21 Question Id : 68634039721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd B Ugdl 348 T §341 T .

1. 1950

| )

. 1951
3; 1952
4. 1947

Options :



686340156881. 1
686340156882. 2
686340156883. 3
686340156884. 4

Question Number : 22 Question Id : 68634039722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 & 91y g 11 1 e Sife
I (FARF) 11 (M)

A [griitgd tag| 1 [mig

B. [siumieew | o [|gaad

C. [efthaciar | 1L emefaa

D.[hgfew |1V [§uH

-ite fau 7T famedt # 9 el SR &1 99 Do -

1. A-IV. B-I. C-III. D-11

|

AL B-IV. C-1. D-II
3. A-IV. B-III. C-1. D-II
4. A-IV. B-1II. C-II. D-I

Options :

686340156885. 1
686340156886. 2
686340156887. 3
686340156888. 4

Question Number : 22 Question Id : 68634039722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i f4u U faedi O ° 91 3R &1 98- I -

1. A-IV. B-I. C-III. D-11

glo|w]*=

2. A-IL B-1IV. C-1. D-II
3. A-IV. B-III. C-1. D-II
4. A-IV. B-1II. C-II. D-I

Options :

686340156885. 1
686340156886. 2
686340156887. 3
686340156888. 4

Question Number : 23 Question Id : 68634039723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SH-TTU-HA (il fdb &18 H 4R &1 AP 41 He4 Ugd Hd SR Dal M1 10
1. 24 SHAY 1950 B SARIEIE H

.24 SaRt 1950 1 faewit H

3. 26 [GEmR 1942 B Herb 4

4. 27 faEmaR 1911 DI PamA 1

Options :

686340156889. 1
686340156890. 2
686340156891. 3
686340156892 4

[ ]

Question Number : 23 Question Id : 68634039723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SH-TTUI-T (S 3 918 H YR ST AW §91) 989 U8 Sa 3R Fal M1 T
1. 24 SHAI 1950 B ARIEE H

.24 S 1950 Bt foeedt |

3. 26 fATHER 1942 B Dol H

4,27 TaEmER 1911 DI DD H

Options :

686340156889. 1
686340156890. 2
686340156891. 3
686340156892 4

| )

Question Number : 24 Question Id : 68634039724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy R

HU 1 - A G & 990 @16 Acded HRd & aigEy Y|

FUA 11 - T3 IR P! H 8l aredl YR 191 [a51e 1046 &1 HRUT I 2feu4 3dl & YRdlg Fifdsi
aRI RPN & [aog 9var a1 fagie U1l

QWRIHT HYF o ATdid H. i [0 7T fdwedi § I 9el 3o &1 90+ Hifog:

1. PRI g §
HYF AR I A AT ©

PYT I I ¢, Al FYT 11 3T ©

| ]

(%]

4 P HT e AfFTF I g 8

Options :

686340156893. 1
686340156894. 2
686340156895. 3
686340156896. 4

Question Number : 24 Question Id : 68634039724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I AR
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FHU 11 : T 3R B § g g YR A191 fO8T8 1046 &1 HRUI AU 2809 941 & URAg Afa®]
GRI RPN & (9o {91 7101 fagig ol

SRIad HYA & AP |, A S0 T [ el 5 U 9ol 3o &1 904 Difoie:

1. PUI IR IS g &
HYAT SRS SR

3. PUTI IO Al B I S B

[ ]

4. PYT I HT . AfeT Py I 9 @

Options :

686340156893. 1
686340156894. 2
686340156895. 3
686340156896. 4

Question Number : 25 Question Id : 68634039725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tep e 119 3R S a1 | ot S ardl 19 2l

1, s
3. BEgIor
w3

Options :

686340156897. 1

686340156898. 2

686340156899. 3
686340156900. 4

| )

Question Number : 25 Question Id : 68634039725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS e 19 SR argiE e o urdt & arelt 1 gl
1. g9
3. BIZBIoH
1S
Options :
686340156897. 1
686340156898, 2

686340156899. 3
686340156900. 4

[ ]

Part B: Geography

Section Id : 686340782
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401306
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634039726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is a period of Paleozoic Era?

1. Cretaceous

-

2. Eocene
3. Pleistocene

4. Devonian

Options :

686340156901. 1
686340156902. 2
686340156903. 3
686340156904. 4



Question Number : 26 Question Id : 68634039726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 & I B 91 RI61d Hed BT UD B g7

i ﬁéié Q LIRS
3. WS
4, S

Options :

686340156901. 1

686340156902. 2

686340156903. 3
686340156904. 4

[ ]

Question Number : 27 Question Id : 68634039727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Wegener the equatorward drift of continents was caused by

1. Tidal force

b2

. Thermal convectional currents
3. Presence of huge mountains in tropics
4, Force of gravity and force of bouyancy

Options :

686340156905. 1
686340156906. 2
686340156907. 3
686340156908. 4

Question Number : 27 Question Id : 68634039727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR D HTAR UG ST YAAIG B ARG S HRU |
1, ARG &
2, T4 Hag-g TS
3. Swreles=i & g uddl o1 Sufiufa
4. 775 99 3IR Wasiedl g

Options :

686340156905. 1
686340156906. 2
686340156907. 3
686340156908. 4

Question Number : 28 Question Id : 68634039728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An example of basic igneous rock having lower amount of silica is
1. Gabbro
2. Slate
3. Quartzite
4. Granite
Options :
686340156909. 1
686340156910. 2

686340156911. 3
686340156912. 4

Question Number : 28 Question Id : 68634039728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRIT g TeF St RS S A SH g O g dI 3ae< . &l
IRIE|
2. Wi
3, BIEWEe
4. 91RE

Options :
686340156909. 1



686340156910. 2
686340156911. 3
686340156912. 4

Question Number : 29 Question Id : 68634039729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term 'plate’ was first used by

1. Morgan

-

2. Wegener
3. Wilson
4. Hess

Options :

686340156913. 1
686340156914. 2
686340156915. 3
686340156916. 4

Question Number : 29 Question Id : 68634039729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ueg B JauUH TIIT 3 fpar an

e
2. AR
3, fae
4.89

Options :

686340156913. 1

686340156914. 2

686340156915. 3
686340156916. 4

Question Number : 30 Question Id : 68634039730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a low cloud?

1. Altostratus

| )

. Cumulus
3. Curostratus
4. Cirrocumulus

Options :

686340156917. 1
686340156918. 2
686340156919. 3
686340156920. 4

Question Number : 30 Question Id : 68634039730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FedassRafanae
1. &R’ g
2. PUE!
3. JETHERT
4. GETY-H ORIl
Options :
686340156917. 1
686340156918. 2

686340156919. 3
686340156920. 4

Question Number : 31 Question Id : 68634039731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is true about local winds?
1. Zonda 1s a warm wind in Africa.
2. Santa Ana 15 a warm and dry wind in USA,
3. Bise 1s an extremely cold wind i Russia.

4. Yamo iz a cold wind in Japan.

Options :
686340156921. 1



686340156922. 2
686340156923. 3
686340156924. 4

Question Number : 31 Question Id : 68634039731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 O 9 BH-11 Sy R ugHl & aR T 93 82
1. SI=ST S3p1e] &1 U T a9 g |

<A1 3T Y UH.U &1 U 71 Ud Y Ua 5

[ ]

SIS EE P TP T 6US UaT B

[#¥]

4, T S9E &1 U& 3US! Ua ol

Options :

686340156921. 1
686340156922. 2
686340156923. 3
686340156924. 4

Question Number : 32 Question Id : 68634039732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 18 NOT a requirement for the development of tropical cyclones ?

1. Continuous supply of abundant warm and moist air

o]

. Convergence of contrasting air masses
3. Higher value of coriolis force

4. Little to no wind shear

Options :

686340156925. 1
686340156926. 2
686340156927. 3
686340156928. 4

Question Number : 32 Question Id : 68634039732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 o 9 oH gursicddly gwardl @ faera & o sraws T8 82
R AT H 1T SR 3% arg i AR syl

fauRita 7ot arel! arg i o1 JHfTER

3. Pififerd 9 of 3ifds A
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Options :

686340156925. 1
686340156926. 2
686340156927. 3
686340156928. 4

Question Number : 33 Question Id : 68634039733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average elevation of the continents above sea level is about meters.

1. 240

[ ]

440
3. 640

4. 840

Options :

686340156929. 1
686340156930. 2
686340156931. 3
686340156932. 4

Question Number : 33 Question Id : 68634039733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Helaldl & 9% ad ¥ Sid STy ai Hex gl

1. 240

| B

. 440
3. 640
4. 840

Options :
686340156929. 1



686340156930. 2
686340156931. 3
686340156932. 4

Question Number : 34 Question Id : 68634039734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following theories does not explain the origin of tides?

1. Equilibrium theory

[ Ea]

. Progressive wave theory
3. Subsidence theory
4. Stationary wave theory
Options :
686340156933. 1
686340156934. 2

686340156935. 3
686340156936. 4

Question Number : 34 Question Id : 68634039734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafarad Rgidl o 9 oH-91 SR ®1 3dfd @ s0Ret el $3dl 82
3. 3fade Risid

4. TWide 937 Rigid

I

[ ]

Options :

686340156933. 1
686340156934. 2
686340156935. 3
686340156936. 4

Question Number : 35 Question Id : 68634039735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following factors does NOT influence vegetation structure in the Savanna Biome?

1. Seasonally intense ramfall

| )

. Fire

%]

. Grazing pressure
4. Winter snow

Options :

686340156937. 1
686340156938. 2
686340156939. 3
686340156940. 4

Question Number : 35 Question Id : 68634039735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Faffad PRS! H 9 DH-91 FaFT oiiad 8 adid Ta1 &1 AHIfad 76 ddl 87
1. By T8 aul
2. 31

3. U[ER0] SE19
4. Taere= fen

Options :

686340156937. 1
686340156938. 2
686340156939. 3
686340156940. 4

Question Number : 36 Question Id : 68634039736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ecotone is

1. A transition zone between two biomes.
2. Primary forest.

3. A'sere’ before climax.

4. Secondary forest.

Options :
686340156941. 1



686340156942 2
686340156943. 3
686340156944. 4

Question Number : 36 Question Id : 68634039736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YSEEFHIEHET) Bl
1. Gl Silaiy & Hed BT HhHul &7 |
 WTYfHe o |

[ ]

L#¥]

TR (FAEHE) § g8 BT |
4. fgdaes a1

Options :

686340156941. 1
686340156942. 2
686340156943. 3
686340156944. 4

Question Number : 37 Question Id : 68634039737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Koppen's climatic classification coastal parts of Tamil Nadu have which one of the following
types of climate?

L. Af

| ]

Aw

. Asg

[FN]

4. Cs

Options :

686340156945. 1
686340156946. 2
686340156947. 3
686340156948. 4

Question Number : 37 Question Id : 68634039737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Af

2. Aw

3. As

4. Cs
Options :
686340156945. 1
686340156946. 2

686340156947. 3
686340156948. 4

Question Number : 38 Question Id : 68634039738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Bhagirathi meets the Alaknanda at

1. Karanprayag

. Devprayag

b

LS

. Vishnuprayag
4. Nandprayag
Options :
686340156949. 1
686340156950. 2

686340156951. 3
686340156952. 4

Question Number : 38 Question Id : 68634039738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR, =1y R adiel
1. HUTRT
2. SqUanT
3. fqoqam
A, TEYATT

Options :



686340156949. 1
686340156950. 2
686340156951. 3
686340156952. 4

Question Number : 39 Question Id : 68634039739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one ig labelled as Assertion A and other is labelled as Reason R

Assertion A: The tropical rainforest biome, has the highest primary productivity. the highest biomass and the
highest biodiversity of any biome.

Reason R: Most tropical rainforest soils in South America and Africa are rich in nutrients.
In the light of the above statements. Choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R is NOT the correct explanation of A.
3. A 1z true but R is false.
4. A is false but R is true.
Options :
686340156953. 1
686340156954. 2

686340156955. 3
686340156956. 4

Question Number : 39 Question Id : 68634039739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156953. 1
686340156954. 2
686340156955. 3
686340156956. 4

2

Question Number : 40 Question Id : 68634039740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Mediterranean climate has developed in both the hemispheres in the western parts of the

continents between 30° to 40° latitudes. It 1s also called sub-tropical dry summer climate.

Reason R: These areas come under the domain of trade winds in winter season and westerlies in summer
season (Summer Solstice)

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

| )

. Both A and R are true and R 18 NOT the correct explanation of A.
3. A is true but R 1s false.

4. A is false but R is true.

Options :

686340156957. 1
686340156958. 2
686340156959. 3
686340156960. 4



Question Number : 40 Question Id : 68634039740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g1 U U U §: TS SATUBUA (Assertion A) & =0 H [aRGd § Tl IR 3HD BRI (Reason R) &
O H:
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BRI R: 5 &7 ¥1d g 5 TEF (trade) A1 IR U Bq & Ui Ga-i & THE H 31 § (¢
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3. A 9 6. Wi R U8l 8l 6

4. A R TR 8. APT R TEI B

Options :

686340156957 1
686340156958. 2
686340156959. 3
686340156960. 4

| B

Question Number : 41 Question Id : 68634039741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following salts in descending order of their share in the Oceans.

A. Magnesium chloride
B. Sodium chloride
C. Calcium sulphate
D. Magnesium sulphate

Choose the correct answer from the options given below:

1.LAB.C.D

| ]

.B.D.C.A
3.B.D.A.C
4.B.AD.C

Options :

686340156961. 1
686340156962. 2
686340156963. 3
686340156964. 4

Question Number : 41 Question Id : 68634039741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TERPRIE Se T 3UTd & HFYR 1 3T 71U daur of deiel 0 ¥ oafyd Sife|

A, TR wREs

B. Jifsaq wiREs
. Bfewrgn gabe

D. TRy gehe
1= fqu e fasedl § 9 U5 IR &1 994 DI

1.A.B.C.D

| ]

B, D.C.A
3.B,D,A. C
4.B.A.D.C

Options :

686340156961. 1
686340156962. 2
686340156963. 3
686340156964. 4



Question Number : 42 Question Id : 68634039742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in mereasing order of length of the day as on 21 June.

A. Tehran
B. Moscow
C. Colombo
D. Kolkata

Choose the correct answer from the options given below:

1.C.D.A.B

| B

.D.C.A.B

D.C.B.A

[FN]

4.C.D.B.A

Options :

686340156965. 1
686340156966. 2
686340156967 3
686340156968. 4

Question Number : 42 Question Id : 68634039742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
21 5 &I [ o1 Sgdl 3fafd & o0 1 Fafeiad of sgaiyd &1

A deRH
B. |
C. Plcdl
A ANCARI]

=i fau U [aoedi 6 © 9ol 3u &1 994 i

1.C.D.A.B
2.D.C.A.B
3.D.C.B.A
4.C,D.B.A

Options :

686340156965. 1

686340156966. 2

686340156967. 3
686340156968. 4



Question Number : 43 Question Id : 68634039743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the soils of India in descending order of their percentage share in total area of the country.

A Alfisols
B. Vertisols
C. Entisols
D. Inceptisols

Choose the correct answer from the options given below:

1.C.D.A.B

| B

.C.D.B.A

D.C.B.A

[FN]

4.D.C.AB

Options :

686340156969. 1
686340156970. 2
686340156971. 3
686340156972. 4

Question Number : 43 Question Id : 68634039743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y P Pa gD H U= YT & SER YRd S [igal &1 sariel o0 O sgaieyd Sifo |

A. SEBIEI
B. 31O
C. UudTa
D. gHEIEI

i fau 7T fadedl O T 9el IR &1 994 Sifoig:

1.C.D.A.B

| ]

.C.D.B.A
3 D.C.BA
4 D.C.AB

Options :

686340156969. 1
686340156970. 2
686340156971. 3
686340156972. 4



Question Number : 44 Question Id : 68634039744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: In P-types of seismic waves, the particles vibrate to and fro in the direction of wave propagation.
Statement II: In S-waves the particles vibrate up and down at acute angles to the direction of propagation.

In the light of the above statements, choose the correct answer from the options given below
1. Both Statement [ and Statement IT are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement I is false.

4, Statement I is false but Statement II is true.

Options :

686340156973. 1
686340156974. 2
686340156975. 3
686340156976. 4

Question Number : 44 Question Id : 68634039744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SR FU & HAdle 1. = U 0 fopedl § ¥ gt 3R 51 995 DI

1. PYA 1 AR BYA I G T g

2. YT AR B G ST E
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4. FYT 1 IGT 8. AP FYT I I B

Options :
686340156973. 1
686340156974. 2



686340156975. 3
686340156976. 4

Question Number : 45 Question Id : 68634039745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

= )

Statement I: Project Tiger and Project Elephant were launched in 1973 and 1977, respectively.

Statement IT: According to the State of India Forest Report (2021) about 40.66% area of forest cover is under
extremely to very highly fire prone zone in India.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true.

-2

. Both Statement [ and Statement II are false.
3. Statement [ 13 true but Statement IT is false,

4. Statement [ is false but Statement I1 1s true.

Options :

686340156977 1
686340156978. 2
686340156979. 3
686340156980. 4

Question Number : 45 Question Id : 68634039745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156977. 1
686340156978. 2
686340156979. 3
686340156980. 4

Question Number : 46 Question Id : 68634039746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following with reference to ocean currents and identify the correct statement/statements.

A. Winds and density differences are main causes of ocean currents.

B. Sub-tropical North Atlantic gyre movement is anti-clockwise.

C. Zone of warm water between the USA coast and the Gulf stream 1¢ called warm wall.

D. The currents in the Northern Indian Ocean change their flow direction four times in a year due to four
101SO01 SeASons.

Choose the correct answer from the options given below:
1. Aand B only
2. D only
3. A only

4. Aand C only

Options :

686340156981. 1
686340156982. 2
686340156983. 3
686340156984. 4



Question Number : 46 Question Id : 68634039746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. %had A
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Options :

686340156981. 1
686340156982. 2
686340156983. 3
686340156984. 4

b2

Question Number : 47 Question Id : 68634039747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements carefully and 1dentify the correct statements.

A. Equatorial low pressure belt is called doldrum due to strong winds and heavy rainfall.

B. Polar winds are part of the Ferrell Cell.

C. Atmospheric stability prevails when dry adiabatic lapse rate is higher than the normal lapse rate.
D. Clear sky. long nights and calm air are favourable for inversion of temperature,

Choose the correct answer from the options given below:

1. Aand B only

| )

. Cand D only

LFN]

. A and C only

4. A and D only

Options :
686340156985. 1
686340156986. 2



686340156987. 3
686340156988. 4

Question Number : 47 Question Id : 68634039747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. %ad C 3R D
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Options :

686340156985. 1
686340156986. 2
686340156987. 3
686340156988. 4

Question Number : 48 Question Id : 68634039748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true about biodiversity conservation in the world?

A. Efforts should be made to preserve the species that are endangered.

B. International trade in wild plants should be without restrictions.

C. Each country should identify habitats of wild animals for protection.

D. Such sites where species feed. breed and nurse their youngs. should be protected.
E. Keystone species should be removed from eco-systems.

Choose the correct answer from the options given below:

1. A. B and C only

| )

.B. C and D only

LF¥]

.C.D and E only

4. A. C and D only

Options :



686340156989. 1
686340156990. 2
686340156991. 3
686340156992. 4

Question Number : 48 Question Id : 68634039748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156989. 1
686340156990. 2
686340156991. 3
686340156992. 4

Question Number : 49 Question Id : 68634039749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Forest Type) {Species)
A |Tropical Evergreen I |White cedar
B. |Tropical Semi-Evergreen| 11 [Khair
C. |Tropical Deciduous III. |Rosewood
D_ |Tropical Thorn IV, |Teak

Choose the correct answer from the options given below:

1. A-III, B-IV. C-II, D-I
2. A-IIT, B-1. C-IV, D-II
3. A-IV, B-II. C-1. D-II
4. A-IV. B-III. C-II. D-I

Options :

686340156993. 1

686340156994. 2

686340156995. 3
686340156996. 4

Question Number : 49 Question Id : 68634039749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III, B-IV. C-II. D-1

| )

CA-IIL B-L. C-IV, D-II
3. A-IV. B-II. C-1. D-II
4. A-IV. B-1II. C-II. D-I

Options :

686340156993. 1
686340156994. 2
686340156995. 3
686340156996. 4



Question Number : 50 Question Id : 68634039750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Grasslands) {Country/Region)
A Downs I [Uruguay
BE. |Prairies 1. |Eurasia
C. [Pampas I JAustralia
D. |Steppes IV, [North America

Choose the correct answer from the options given below:

1. A-TIL B-11, C-1, D-IV

| ]

CA-L B-IL C-IIIL D-IV
3. A-I. B-IV. C-III. D-I1
4. A-IIL B-IV. C-1. D-II

Options :

686340156997. 1
686340156998. 2
686340156999. 3
686340157000. 4

Question Number : 50 Question Id : 68634039750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=l 1 &1 g 11 ¥ e oifs

I = 11
A lse= 1 [ge
B. [uTdl 1. [gf=mn
C. o= 111 [amresfern
D. [l IV, |G SR
frafaiad foeedi & 3 98t SR &1 973 o

1. A-IIL, B-IL. C-I. D-IV
2. A-I. B-II. C-III. D-IV
3. A-L B-IV. C-11I. D-II
4, A-IIL B-IV. C-1. D-11

Options :



686340156997. 1
686340156998. 2
686340156999. 3
686340157000. 4

Question Number : 51 Question Id : 68634039751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Tvpes of Delta) (River)
Arcuate Delta I |Hwang Ho
Estuarine Delta | II [Tapt
Abandoned Delta) II1. |Mississippi
Bird-foot Delta | TV [Nile

o[ o[>

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I. D-III

)

CA-TV, B-1I1L C-TIIL D-I
3. A-IV, B-I1. C-1, D-ITT
4. A-IL B-IV. C-III. D-1

Options :

686340157001. 1
686340157002. 2
686340157003. 3
686340157004. 4

Question Number : 51 Question Id : 68634039751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[ ]

CA-TV, B-ILL C-II0, D-I

[F]

CA-IV, BAILL C-1L DI
4. A-IL B-IV. C-III. D-I

Options :

686340157001. 1
686340157002. 2
686340157003. 3
686340157004. 4

Question Number : 52 Question Id : 68634039752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The popular J-curve in population geography is known for

1. Birth rate of the world

b

. Death rate of the world

LS

. Population growth of the world
4. Rate of migration in the world

Options :

686340157005. 1
686340157006. 2
686340157007. 3
686340157008. 4

Question Number : 52 Question Id : 68634039752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157005. 1
686340157006. 2
686340157007. 3
686340157008. 4

Question Number : 53 Question Id : 68634039753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following stated that 'the power of population to reproduce is greater than the power of the
carth to produce subsistence for man' ?

1. Zelinsky
2. Malthus
3. Trewartha
4. Clarke

Options :

686340157009. 1
686340157010. 2
686340157011. 3
686340157012. 4

Question Number : 53 Question Id : 68634039753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157009. 1
686340157010. 2
686340157011. 3
686340157012. 4

Question Number : 54 Question Id : 68634039754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following cities is NOT an example of primate city?

1. Bangkok

-

2. London
3. Paris
4. Mumbai

Options :

686340157013. 1
686340157014. 2
686340157015. 3
686340157016. 4

Question Number : 54 Question Id : 68634039754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o # | D191 TR T TR BT 38630 T8l 82
1. SHTH
2. TeA
3. 09
1

Options :

686340157013. 1
686340157014. 2
686340157015. 3
686340157016. 4

Question Number : 55 Question Id : 68634039755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following countries has the highest total fertility rate?
1. Saudi Arabia
. Niger
3. Tarwan
4. Poland
Options :
686340157017. 1
686340157018. 2

686340157019. 3
686340157020. 4

Question Number : 55 Question Id : 68634039755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o o 2 forg 3 3t o woeE R gaiie® &2
1. T34l 3Rd
REIEE R

| ]

3. digdM
4. 0108

Options :

686340157017. 1
686340157018. 2
686340157019. 3
686340157020. 4

Question Number : 56 Question Id : 68634039756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following soil of India 1z Zonal soil?
1. Black
2. Alluvial
3. Saline

4. Laterite

Options :
686340157021. 1
686340157022. 2



686340157023. 3
686340157024. 4

Question Number : 56 Question Id : 68634039756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o o O o O yRrdia g sy g g

1. PTal

 SIeiIG
3. Gauilg
4. AERIET

Options :

686340157021. 1

686340157022. 2

686340157023. 3
686340157024. 4

[ ]

Question Number : 57 Question Id : 68634039757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following location is an example of world's worst nuclear power plant accident?

1. Seveso

| E)

. Bhopal

%]

. Chernobyl

4. Harbin

Options :

686340157025. 1
686340157026. 2
686340157027. 3
686340157028. 4

Question Number : 57 Question Id : 68634039757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157025. 1
686340157026. 2
686340157027. 3
686340157028. 4

[ ]

Question Number : 58 Question Id : 68634039758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following country produces Oolong Tea?
1. Sweden
2. Taiwan
3. Sr1 Lanka
4. France
Options :
686340157029. 1
686340157030. 2

686340157031. 3
686340157032. 4

Question Number : 58 Question Id : 68634039758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340157029. 1



686340157030. 2
686340157031. 3
686340157032. 4

Question Number : 59 Question Id : 68634039759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Soo canal is located between
1. Lake Superior and Lake Ontario
2. Lake Huron and Lake Ontario
3. Lake Erie and Lake Ontario

4. Lake Superior and Lake Huron

Options :

686340157033. 1
686340157034. 2
686340157035. 3
686340157036. 4

Question Number : 59 Question Id : 68634039759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR wnafEdadl
iR gt @ik sifeRar g
3, 531 e 3R sifefar sfi
4. UIRER 39 SR gQRIA 3|
Options :
686340157033. 1
686340157034. 2

686340157035. 3
686340157036. 4

I
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Question Number : 60 Question Id : 68634039760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Manchester of South India is

1. Salem

2

. Tirunelveli
3. Counbatore

4, Tuticorin

Options :

686340157037. 1
686340157038. 2
686340157039. 3
686340157040. 4

Question Number : 60 Question Id : 68634039760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST YR &1 B gl

s R

Options :

686340157037. 1
686340157038. 2
686340157039. 3
686340157040. 4

Question Number : 61 Question Id : 68634039761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The farming that is characterised by high mputs per unit of land to achieve high yields per hectare is termed
as

1. Subsistence farming

[ B

. Extensive farming
3. Intensive farming
4. Diversified farming

Options :



686340157041. 1
686340157042. 2
686340157043. 3
686340157044. 4

Question Number : 61 Question Id : 68634039761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157041. 1
686340157042. 2
686340157043. 3
686340157044. 4

Question Number : 62 Question Id : 68634039762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year for the first time Census of India considered only persons aged seven years or above to work out
literacy rate?

1. 1061

[ ]

1971
3. 1581

4.1991

Options :

686340157045. 1
686340157046. 2
686340157047. 3
686340157048. 4

Question Number : 62 Question Id : 68634039762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1961

-2

. 1671
3.1981
4.1991

Options :

686340157045. 1
686340157046. 2
686340157047. 3
686340157048. 4

Question Number : 63 Question Id : 68634039763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The offshore terminal at has been developed to reduce the pressure at Kandla Port.

1. Vadinar

[

. Jamnagar
3. Porbandar
4. Bhavnagar
Options :
686340157049. 1
686340157050. 2

686340157051. 3
686340157052. 4

Question Number : 63 Question Id : 68634039763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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S
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Options :



686340157049. 1
686340157050. 2
686340157051. 3
686340157052. 4

Question Number : 64 Question Id : 68634039764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which one of the following states. the proportion of the Scheduled Tribes population in the total population
of the state is highest (as per 2011 Census)?

1. Assam
2. Rajasthan
3. Odisha
4. Gujarat

Options :

686340157053 1
686340157054. 2
686340157055. 3
686340157056. 4

Question Number : 64 Question Id : 68634039764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 Tl O 3 1oy o 3 S feId SRS &1 S 160 & ol =] § uTd 9ailte g
(SHTUFT 2011 & 3AR) 2

1. A9H

| ]

EiEeiE]
3. 3fifs=m

4. TORIA

Options :

686340157053. 1
686340157054. 2
686340157055. 3
686340157056. 4

Question Number : 65 Question Id : 68634039765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Assertion A: Japan is facing the challenge of ageing of population.
Reason R: Japan has declining total fertility and increasing life expectancy trends.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

[

. Both A and R are true and R 1s NOT the correct explanation of A.
3. A 1s true but R 1s false.

4, A is false but R is true.

Options :

686340157057. 1
686340157058. 2
686340157059. 3
686340157060. 4

Question Number : 65 Question Id : 68634039765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 B U U §: TS STUB U (Assertion A) F =0 H [ Gd § Tl IR 3HD BRI (Reason R) &
O H:

STUTUT A: 9 SHEEAT & JHGIG (TSHT) I FA! 1 HAT B3 36T ¢

HROT R: FUF & Fod Yol 4 FR1ae 1 3R Sifas U= § g &1 uaiaai g
SIRIF S & ats 3, -1 feu 7 fowel & 9 aed Suged SW &1 904 Sife:
1. ARRIA TAE IR R, A P T =B
2. A 3R R G 9 €. dichd R. A D1 Ig! e o) o

3. A TR AT R 3T B

4 AT e, APTR I EI

Options :

686340157057. 1
686340157058. 2
686340157059. 3
686340157060. 4

Question Number : 66 Question Id : 68634039766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Assertion A: Foot-loose industries can be located in a wide variety of places.
Reason R: Foot-loose industries are not dependent on any specific raw material.
In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

| )

. Both A and R are true and R is NOT the correct explanation of A.
3. A is true but R 1s false.

4. A is false but R is true.

Options :

686340157061. 1
686340157062. 2
686340157063. 3
686340157064. 4

Question Number : 66 Question Id : 68634039766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al 5%%[{@%;: Ud sfieya (Assertion A) %Wﬁ%@ﬁ%fﬁmmm (Reason R) &
0T

HUFYT A: WEe (Pegs) I S w71 3if¥e fafay wHl iR &1 & adi 5

TRUI R: Wo3 (Geg) IarT [l Ry = 7 R R g e 8

TR B & fdie 1, = 34U 70 faeped] & 9 9t SR &1 999 B
1. ARRIA TAE IR R, AP T =B

A SRR & 9@ 8. 3l R. A 31 951 ARAT 81 5

ATI R AfFTR TR

b2

¥ ]

4. AT . AT R T B!

Options :

686340157061. 1
686340157062. 2
686340157063. 3
686340157064. 4



Question Number : 67 Question Id : 68634039767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: India's population is closing towards the end of the late expanding stage of the demographic
transition.

Reason R: All states of India are at the verge of transition to low stationary stage.
In the light of the above statements. Choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A,
2. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R 1s false.
4. A is false but R is true.
Options :
686340157065. 1
686340157066. 2

686340157067. 3
686340157068. 4

Question Number : 67 Question Id : 68634039767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g1 P U U §: UF SHTUDBUA (Assertion A) P =0 H [ARGd § Tl THRI 3HD BRI (Reason R) B
O H:

SfPY A: YRA & . SIS Hhu0 o fadfad fGwaR siawr & 3 o1 3R SFRR 81

HROI R: URA & G2l 350 W01 1 i T sEe & IR R E
SIRIF FUA & de 1. == U 0 fasedl & 3 Tgt SR &1 904 DI
1. A SRR EH 99 § IR R, A &1 981 IR=AT B
2. A 3R R EHI 9@ §. Al R. A 1 98| IR a1 ©

3. A9 e dfPTR T B

4 AT ASTR IS

Options :

686340157065. 1
686340157066. 2
686340157067. 3



686340157068. 4

Question Number : 68 Question Id : 68634039768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the population measures of India in chronological order.

A Integration of most of the basic social services with family planning.

B. Tune bound target of reducing the birth rate from 39 to 23 per thousand.
C. People were motivated to accept sterilisation.

D. Voluntary sterilisation scheme.

Choose the correct answer from the options given below:

LAC.B.D

| B

.D.C.B.A

.C.D.A.B

[FN]

4.B.C.A.D

Options :

686340157069. 1
686340157070. 2
686340157071. 3
686340157072. 4

Question Number : 68 Question Id : 68634039768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRAIG S-HE1 & SUH| & Plared H oIafRd Sifvu|

A SiferpTer grEoie Jarsl o 9NaR Haied & 9 UHiHu |
B. O ¥ &l 39 U 23 Uid §9IR W= &H &1 95y JHilded ded|
. ArTl Dl defHur FaH & fou Uid o7

D. Wf=s® gl greH|

i fau U faedl O 9 98t SR 91 99 i

1.A.C.B.D

| ]

.D.C.B.A
3.C,D,AB
4 B.C.A.D

Options :

686340157069. 1

686340157070. 2
686340157071. 3



686340157072. 4

Question Number : 69 Question Id : 68634039769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following states in descending order according to the proportion of rural population in the total
population of state as per., Census of India, 2011.

A. Himachal Pradesh
B. Assam

C. Odisha

D. Uttar Pradesh

E. Madhya Pradesh

Choose the correct answer from the options given below:
LA C B E. D
2A C. B DE
3.CCAAB.E.D
4 AB.CDE

Options :

686340157073. 1
686340157074. 2
686340157075. 3
686340157076. 4

Question Number : 69 Question Id : 68634039769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR P SIUMT 2011 & STER A {30 70 Il D1 3101 ol F-8=A] § Y0 S EE & 30 &
TR S{ERie] 0 H ogaiiyd Sifeu|

A feaaa wew
B. 3TH

c. fifsn

D. 3R Ueq
E. 0 Wy

4 fau U faedl © 9 98! SR &1 944 il

1.A,C.B.E.D

| B

ACB.DE

L&)

.C,A.B.E,D
4.A.B.C.D.E

Options :

686340157073. 1
686340157074. 2
686340157075. 3
686340157076. 4

Question Number : 70 Question Id : 68634039770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements about Demographic Transition Theory.

Statement I: In the early expanding stage. the population becomes highly urbanised. literate and has technical
lnow how.

Statement IT: Fertility remains high in the early expanding stage but it declines rapidly in the late expanding
stage.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true.

| )

. Both Statement I and Statement IT are false.

. Statemient I is true but Statement IT 15 false.

LFN]

4. Statement I is false but Statement II s true,

Options :

686340157077. 1
686340157078. 2
686340157079. 3
686340157080. 4



Question Number : 70 Question Id : 68634039770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 & Sy SEE Hhhu fgid & g5 1 AT e §-
T 1 YRS [GETR a1 § O] e Weigd, JI&R Ud ao-iic! 993 arell gl &

gﬂqn:ﬁﬁ%ﬁﬁﬁ AT H Yol % 3= Xgd| 6 [dq [aeiiad (R Siael 3 1g doll § &8 gidl
i

SR B $ de 4, A9 B T [dedd! & 3 999 SUgad SR 31 997 DI
1. FYA 1 IR FYT 11 &I Tl 5
2. DY 3R HYF 11 1 7T g
3. DY e 8. Afh HY 11 77ed &
4. DY 17T0d 6. W1 U 11 9l o

Options :

686340157077. 1
686340157078. 2
686340157079. 3
686340157080. 4

Question Number : 71 Question Id : 68634039771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Rawatbhata nuclear power station is located in Rajasthan.

Statement IT: Tatipaka oil refinery and Singareni coal fields are located in Telangana.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

| )

. Both Statement I and Statement II are false.
3. Statement [ 15 true but Statement II is false.

4. Statement [ is false but Statement 11 is true.

Options :

686340157081. 1
686340157082. 2
686340157083. 3
686340157084. 4



Question Number : 71 Question Id : 68634039771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Rl
Y 1 TTIHET NS E Sl 907 o= § RE g1

B I1: ATCHITHT et SERITET SiR R wigan 83 Jammn & fa €
SWRIFd Y & alled |, +id [ 70 fasedi © 3 9ad Sugad 3R &1 99 DIfue:
1, FYA 1 3R YA 11 <1 Tl 5
2. YT 3R BYF 11 1 7T & |
3. PY1 B! §. A By 11 7Tad ¢
4. PYF TS 5. b= DY 11 el 8

Options :

686340157081. 1
686340157082. 2
686340157083. 3
686340157084. 4

Question Number : 72 Question Id : 68634039772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements carefully and identify the correct statements.

A. The National Solar Mission was launched in 2014.

B. Bhadla zolar park is located in Rajasthan.

C. Kaza Solar Park 1s located in Himachal Pradesh.

D. In Indian states. Madhya Pradesh has the highest potential for solar energy.

Choose the correct answer from the options given below:

1. Aand B only

| )

. A and C only

LFN]

A and D only

4. B and C only

Options :

686340157085. 1
686340157086. 2
686340157087. 3



686340157088. 4

Question Number : 72 Question Id : 68634039772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 FY=1 & FHYES U¢ TUT Tel PYH B JgaH P

A TP IR T 2014 § SRy foar |

B. HIGdl TR UIdh IoTH H fRUT & |

C. BT IR 9IS fermad wew § fud g1

D. UG gl & TR Foll &1 Gaifte GHaT 5 Ue 5 8

14 fRu U faered! # 9 9 SUgE SOR 1 957 BIIT
1. Had A SR B

FaT AR C

3. %dd A SR D

4. PTAB AR C

Options :

686340157085. 1
686340157086. 2
686340157087. 3
686340157088. 4

12

Question Number : 73 Question Id : 68634039773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following criteria are adopted to characterize any place as urban in India?

A. All places with municipal corporation. municipality. Notified area committee.
B. Population size of 5000 or more.

C. Population density of not less than 400 person per square kilometer.

D. At least 75% population engaged in non-agricultural activities.

E. Cantonment board areas.

Choose the correct answer from the options given below:

1.A.B.CandD

| )

A B.CandE
JJALC.Dand E
4 AB.DandE

Options :
686340157089. 1



686340157090. 2
686340157091. 3
686340157092. 4

Question Number : 73 Question Id : 68634039773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 H T H Y O] &1 WaH R & [ ®IF 1 U6 TR & &4 1§ UgdH $e- 1 Ugad [hg o ol

A I _F 598 R 78, TR gifdie]. Aidi®iss uiar o el
B. SHHE] HIPHR 5000 T1 9 i Bl

C. SEEAT 99 400 Safdd Ufd aff fadie 9 18

D. B 4 BH 75% SR IR-$ Y Sl T dad |

E. @la1ale &F

44 fau U famed © 9§ 96t TR &1 99 Bifol:
1LA.B.C3RD
A.B.C3RE

3.A.C.D3IRE

b2

4. A.B.D3IRE

Options :

686340157089. 1
686340157090. 2
686340157091. 3
686340157092. 4

Question Number : 74 Question Id : 68634039774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statements carefully and identify the correct statements.

A. Malthusian population principles are applicable in Rajasthan state of India.

B. Primate city concept is applicable in West Bengal.

C. As per Rank size rule. if the population of Rank 1 city is one lakh, the tenth rank eity will have 10,000
population.

D. In industrial location, agglomeration factor is not applicable in India.

Choose the correct answer from the options given below:

1. A. B and D only

| ]

. B and C only
3. Aand D only
4. B. C and D only

Options :

686340157093. 1
686340157094. 2
686340157095. 3
686340157096. 4

Question Number : 74 Question Id : 68634039774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i U T Sl &1 aHYd® Ug auT 9ol BUHl &1 IgaH |

A, T & SEReT R YR & e g H A e g
B. UM TR &1 Yared1 9fed §7d § AR ekl 6|
C. Bife-MPR a0 & AR, Al¢ -1 TR DI T8 US ARA ¢ ol $H-10 AT AR &1 S

10.000 BT
D. S &1 3afRyfd § g5 PRSP YR H Al el gidl|

- fau T fawedt # 9 el 3R &1 904 Sifon:
1. %ad A. B 3R D
2. FaAB AR C
3. %dd A SR D
4 $TAB. C AR D

Options :

686340157093. 1
686340157094. 2
686340157095. 3
686340157096. 4



Question Number : 75 Question Id : 68634039775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
K-value/Scholar Principle
A JK=3 1. |Rank-5ize rule
B [K=4 1. PMarket principle
C. [K=7 111 JAdministrative principle
D |GE. Zipf IV, [Transport principle

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II, D-I

| ]

AT B-IV, C-1L D-II
3. A-IL B-IIL C-I. D-IV
4. A-IL. B-IV. C-1III. D-I

Options :

686340157097. 1
686340157098. 2
686340157099. 3
686340157100. 4

Question Number : 75 Question Id : 68634039775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 &1 g9 11 ¥ e oifs

sl Gy
K-gea/fag= REG]
A [K=3 1. [Bifc-R a9
B. [K=4 I. FreR [g
c. k=7 1. [remaeE Fag
D. 6. K zipf V. [ofae g
Fafaiad [deedi § O gl 3R &1 904 DI ;

1. A-IV. B-III. C-II. D-I
2 AL B-IV. C-1, D-IT
3. A-IL B-IIIL C-1. D-IV
4. A-IL B-IV. C-II1L. D-I

Options :



686340157097. 1
686340157098. 2
686340157099. 3
686340157100. 4

Question Number : 76 Question Id : 68634039776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Tribe) (State)
A |rula I |Guarat
B. |Raban II. |[Kerala
C. [Khond I1I. |JAndaman and Nicobar]
D. Jarawa IV, |Odisha

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III, D-IV

| ]

CA-L B-IL C-IV, D-TII
3. A-IL B-I. C-IV, D-III
4. A-I. B-II. C-III. D-IV

Options :

686340157101. 1
686340157102. 2
686340157103. 3
686340157104. 4

Question Number : 76 Question Id : 68634039776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 11 Al 11 9 [Tae S

T 1 Tt 1
EREUT)] [T
A goar 1 [
B. &Nl I [ea
C. [afs I11. [HUSHH U8 H& iR
D. [s=mEn i SRR
FafaRgd fadedi & 9 98l 3o &1 99 Hifolt

1. A-IL. B-I. C-III, D-IV

[ ]

CA-L B-IL C-IV. D-III
3. A-IL B-1. C-IV, D-1TI
4. A-L. B-1I. C-IIL. D-IV

Options :

686340157101. 1
686340157102. 2
686340157103. 3
686340157104. 4

Question Number : 77 Question Id : 68634039777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pays: A micro-region having homogeneity in physical and cultural phenomena, used by Vidal de la Blache in
his study of the

1. Massif of France

[ ]

. Massif of Germany

. Massif of Colorado

LFN]

4. Massif of Russia

Options :

686340157105. 1
686340157106. 2
686340157107. 3
686340157108. 4

Question Number : 77 Question Id : 68634039777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O - U oY U ¥ fore 1fifie iR SRl qaull & JuHdr 8l [dSTa-s -al-sars gRI 396
e | v fear

1. Y 31 IRy

2. ST 1 AR
3. PAie B A
4. %4 @1 Hfy®

Options :

686340157105. 1
686340157106. 2
686340157107. 3
686340157108. 4

Question Number : 78 Question Id : 68634039778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Indian astronomer. mathematician and astrologer who described the cause of solar and lunar eclipses and
their impact on human society was

1. Brahmabhat

| ]

. Bhaskaracharya

. Varahamihira

L]

4. Brahmagupta

Options :

686340157109. 1
686340157110. 2
686340157111. 3
686340157112. 4

Question Number : 78 Question Id : 68634039778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRTD GITaraa=1. TR’ SR Sifast 5= g SR 9= 980 & SR SR 7Fd J076 IR 590
THTa! &1 auid fHa i

1. SRS
2. YRHIEH
3. WIEMHRRR
4. STRT

Options :

686340157109. 1
686340157110. 2
686340157111. 3
686340157112. 4

Question Number : 79 Question Id : 68634039779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who gave the idea that "all history must be treated geographically and all geography must be treated
historically"?

1. Anaximander

| ]

. Hecatacus

. Eratosthenes

[FN]

4. Herodotus

Options :

686340157113. 1
686340157114. 2
686340157115. 3
686340157116. 4

Question Number : 79 Question Id : 68634039779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HHE e & Yo 2 3 qur gawd Wiid & Ulaeiied = 9 sieme =1 aifgr 1 faar
fepg faar un

1. Qﬁﬁfﬂ USY
4. %éiélaﬂ
Options :
686340157113. 1
686340157114. 2

686340157115. 3
686340157116. 4

| S}

Question Number : 80 Question Id : 68634039780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which map projection 13 most suitable to map countries located in mid- latitudes?

1. Mercator Projection

| §)

. Cylindrical Projection
3. Azimuthal Projection
4. Conical Projection

Options :

686340157117. 1

686340157118. 2

686340157119. 3
686340157120. 4

Question Number : 80 Question Id : 68634039780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-SRI 8 <= &1 A E 37 & [T o1F 91 HaY §ad SugE © 2
1. Gbex 4&y
 STPR &
Y feRmgag

4. TOTHR HET

| )

LFY]



Options :

686340157117. 1
686340157118. 2
686340157119. 3
686340157120. 4

Question Number : 81 Question Id : 68634039781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Azimuth map projections, which one of the following is associated with oblique aspects?

1. North Pole

S}

. Equator

(%]

. Mid-latitudes

4. South Pole

Options :

686340157121. 1
686340157122.2
686340157123. 3
686340157124. 4

Question Number : 81 Question Id : 68634039781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v Rz veni & o d 4 o fade vdf S uaRa g 0
1. 3Rt Yd
YA ¥

[ ]

3, -39
4. <f&mit yg

Options :

686340157121. 1
686340157122. 2
686340157123. 3
686340157124. 4

Question Number : 82 Question Id : 68634039782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following represents 'total cost of travel"?

1. Isotac

| )

. Isochrone

%]

. Isodapane

4. Isobront

Options :

686340157125. 1
686340157126. 2
686340157127. 3
686340157128. 4

Question Number : 82 Question Id : 68634039782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEEE Ly CE e Bt ko nokaker T 8
3. STEHSUA
i 5 {
Options :
686340157125. 1
686340157126. 2

686340157127. 3
686340157128. 4

[ E)

Question Number : 83 Question Id : 68634039783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be used for both horizontal and vertical measurements in surveying?

1. Plane table

| )

. Theodolite
3. Prismatic compass
4. Plumb Bob
Options :

686340157129. 1
686340157130. 2



686340157131. 3
686340157132. 4

Question Number : 83 Question Id : 68634039783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o A 3 o a1 gdem # afas 9 SR SF 7=l § vgad e 1 9edi e 2
1. T ¢ad

fgrsiase

e

3. M A

4. 9rga fuus

Options :

686340157129. 1
686340157130. 2
686340157131. 3
686340157132. 4

[ ]

Question Number : 84 Question Id : 68634039784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following sampling technique has property of randomness?

1. Snowball technique

| 5]

. Quota technique
3. Convenient sampling
4. Stratified sampling

Options :

686340157133. 1
686340157134. 2
686340157135. 3
686340157136. 4

Question Number : 84 Question Id : 68634039784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 o 3 forg wloeam do-iie o1 aref=se ugii sidli 82
1. W deb-iidh
2. BT dB-ID

3. Yfaursi—e ufc=a-

4. TG d ufc=e

Options :

686340157133. 1
686340157134. 2
686340157135. 3
686340157136. 4

Question Number : 85 Question Id : 68634039785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following options is considered as the relative measure of dispersion?

1. Mean Deviation

2. Variance
3. Standard Deviation
4. Coefficient of Variation
Options :
686340157137. 1
686340157138. 2

686340157139. 3
686340157140. 4

Question Number : 85 Question Id : 68634039785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7 fa@edl & T S T UPH 101 &1 JIé J19 8l 87
1. A1 fage
TR
3. O fageH
4. fa=Ror Ui

[ ]

Options :



686340157137. 1
686340157138. 2
686340157139. 3
686340157140. 4

Question Number : 86 Question Id : 68634039786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Student's t- statistics is ordinarily used to test

1. Degree of correlation

2. Direction of correlation

LS

. Significance of correlation

4. Variation in data

Options :

686340157141. 1
686340157142. 2
686340157143. 3
686340157144. 4

Question Number : 86 Question Id : 68634039786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faremef + QIRET®T (Student's t- statistics) T TR GT & Tdlaur § wanT 31 Sl el
. U5-HaY B AT
 e-Hay P gz
3. gg-4dy Bl ggdl
4, Affms] H TER0l

I

| ]

Options :

686340157141. 1
686340157142. 2
686340157143. 3
686340157144. 4

Question Number : 87 Question Id : 68634039787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following has the longest visible wavelength ?

1. Violet

| §)

. Blue
3. Green

4. Red
Options :
686340157145. 1
686340157146. 2

686340157147. 3
686340157148. 4

Question Number : 87 Question Id : 68634039787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 9 fpue! ez aiey wed o4l g
1. ST
e

3.8Xl

| ]

4. il

Options :

686340157145. 1
686340157146. 2
686340157147. 3
686340157148. 4

Question Number : 88 Question Id : 68634039788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following iz a misfit among the common overlay methods vsed in GIS?

1. Clip

[ ]

. Intersection
3. Union
4. Batch
Options :

686340157149. 1
686340157150. 2



686340157151. 3
686340157152. 4

Question Number : 88 Question Id : 68634039788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oIt 3175 0. & gad sfifes faftedi & e S om w smima 32
1. TaRA
R INETT

3. Tgaadn
4§89

Options :

686340157149. 1
686340157150. 2
686340157151. 3
686340157152. 4

| )

Question Number : 89 Question Id : 68634039789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Humanistic and behavioural schools of thought of human geography emerged after 1960.

Reason R: Geographers were discontent with the quantitative revolution and its dehumanised manner of doing
geography.

In the light of the above statements. Choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R 1s NOT A is true but R is falsethe correct explanation of A.
3. A 1s true but R 1s false.

4. A is false but R 1s true.

Options :

686340157153. 1
686340157154. 2
686340157155. 3
686340157156. 4

Question Number : 89 Question Id : 68634039789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 U ST 0 §: U@ S UT (Assertion A) & w0 1 [AREd § T 53R 38 PRU (Reason R) &
O H:

HIYHYT A: TFAAETE] AR AgeRas! [AIRYRIE B 701 T 1960 & 915 (9o Ed g3
BRUT R WA EED Hild R 2858 HHE aiie I 470 &I [dwiad &= 9 SRFgp U
SRIad HYF & AP 4, A 30 U [deedl § 4 9ol 3% &l 994 Difou:
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foiaki
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Lad

4. AT e, APTR TG R

Options :

686340157153. 1
686340157154. 2
686340157155. 3
686340157156. 4

Question Number : 90 Question Id : 68634039790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the historical developments. in Quantitative revolution in chronological order.

A. Von Thunen's Crop Intensity Model

B. Weaver's crop-combination regions delineation
C. Haggett's monograph on spatial diffusion

D. Weber's Industrial location Model

Choose the correct answer from the options given below:

1.LAB.C.D
2B A G
3.D.C.B.A
4. A D B.C

Options :

686340157157. 1

686340157158. 2

686340157159. 3
686340157160. 4



Question Number : 90 Question Id : 68634039790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Hifd U gU Uideiye Gl @i STersd o oaied Sior|

A. G WA &1 B Mg UfdaH
B. did¥ &1 Y-H4I- e Hidis-
C. §71e BT T G0 R fafdy
D. AR BT HB] srareufd wiqar

i fau U faedl © 9 98! SR &1 944 DIl

1.A.B.C.D

2.B.D.A.C
3.D.C.B.A
4.A.D.B.C

Options :

686340157157. 1
686340157158. 2
686340157159. 3
686340157160. 4

Question Number : 91 Question Id : 68634039791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of Prismatic compass survey in order of execution,

A. Prepare a sketch showing the objects
B. Read the bearings from both ends of the baseline. measure the length of the baseline and record them in

the field book.

C. A baseline is selected.
D. Plot the recorded data i the field boolk.

Choose the correct answer from the options given below:

1.A.B.C.D.

[

CACB.D
3D.C.AB
4. B.C.A.D

Options :

686340157161. 1
686340157162. 2
686340157163. 3
686340157164. 4



Question Number : 91 Question Id : 68634039791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[oemafes HURT HAavl & =RON B HE-a0 & HHTHR oudied Hifou|

A TN &1 SH I U QT JUR Siforg|
B. HIHR-Y@I & =i R ¥ [S=1e 101 &7 ufgu, 31eR-3E &1 aEls 414U SR 3 o gRae o
Taford Hifor
C. TS YRGBT 99 a1 Sl 2
D. Yohierd s 1 H1 gikds 1 FHofud S|
i< faU 7T faet § T el SR &1 99 Bifoiu:

1.A,B,.C. D,

2.A.C.B.D
3.D.C.A.B
4.B.C.A.D

Options :

686340157161. 1
686340157162. 2
686340157163. 3
686340157164. 4

Question Number : 92 Question Id : 68634039792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in correct sequence of GIS related work.
A. Spatial Analysis
B. Data verification
C. Entering of attribute data

D. Spatial and attribute data Linkages
E. Spatial data Input

Choose the correct answer from the options given below:
1LLE G B X B
ZZE.C.B,D,A
L ECD.EBA
4B, C.B.AD
Options :

686340157165. 1
686340157166. 2



686340157167. 3
686340157168. 4

Question Number : 92 Question Id : 68634039792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 31 i3 T, T Safdd Pl & 91 o0 § Iaiyd $i

A 2TiHE fggeyo

B. B s] &1 G

C. IR s ot ufafy

D, |H® 3R TR-|AE fies! 1 uHiHu
E. W& siFsl of ulaly

41 fau U famedi © O 96t 3Tk &1 98- DI

1.E.C.D.A. B

2E.C.B.D A

3R CD.BA

4 EC.B.A.D
Options :
686340157165. 1
686340157166. 2

686340157167. 3
686340157168. 4

Question Number : 93 Question Id : 68634039793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements regarding advantages of application of quantitative techniques in geographical
studies.

Statement I: The quantitative techniques are firmly based on empirical observation and are readily venifiable.
Statement II: They do not help in deseribing. analysing and simplifying a geographical system.
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement [ and Statement IT are false

LFS]

. Statemient I is true but Statement IT is false

4, Statement I is false but Statement II 1s true



Options :

686340157169. 1
686340157170. 2
686340157171. 3
686340157172. 4

Question Number : 93 Question Id : 68634039793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Viiferes sreagH! o uErere fafial & waier & ol 9 gefid e &l oy Ry e &
HY 1. AT et ouias sraeie- 1R 3nuiie § SR Ues € Ia= g
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sy

Options :

686340157169. 1
686340157170. 2
686340157171. 3
686340157172. 4

Question Number : 94 Question Id : 68634039794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements about compass reading and projection.

Statement I: It is customary to specify azimuth as an angle counting clockwise from geographic north through
360 degrees.

Statement II: Between two bounding meridians for identical latitudinal extents. the quadrilateral areas
decrease poleward.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement [ and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I is true but Statement II iz false

4, Statement I is false but Statement II is true

Options :

686340157173. 1
686340157174. 2
686340157175. 3
686340157176. 4

Question Number : 94 Question Id : 68634039794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST UsH R U&Yl & aR § &1 $y AU T E|
B I HiTITeres 3R 4 U] &1 Ygal & =4 360 {841 d@ Siv1 1o fgzn R & grefie g1
FU I1: 31 IRTS THIRR & 7, Tl sieifeia fawR &, aqusia 83, yaf @ sik ged T
SWRIGd DY & 1l 1, A S 7Y faswedi O 3 9oy SUge 3R &1 9497 HIoU:
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4. DY 1T 5. Aiieh YT 11 HBI &
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Options :

686340157173. 1
686340157174. 2
686340157175. 3
686340157176. 4



Question Number : 95 Question Id : 68634039795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements about sampling techniques -

Statement I: If the universe is not uniform and there are areal or other differences in it, stratified sampling
needs to be used.

Statement II: In systematic sampling each unit of population has an equal chance of being included in the
sample.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement [ and Statement II are true

| )

. Both Statement I and Statement IT are false

. Statement I is true but Statement II 1s false

LFN]

4. Statement I is false but Statement I 1s true
Options :
686340157177. 1
686340157178. 2

686340157179. 3
686340157180. 4

Question Number : 95 Question Id : 68634039795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yfeaa flaftrf & ded AR S sy Ru o §)

DY I TG 09 GHH o1 ¢ SR 598 & a1 gl fafiadd urs Widl 8 df WiRigd Wic=a= ol 9
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Options :

686340157177. 1
686340157178. 2
686340157179. 3
686340157180. 4



Question Number : 96 Question Id : 68634039796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given statements about classical linear regression and identify the correct statements

A. The sum of the vertical deviations of the observed values from the derived straight line is equal to zero.

B. It is not possible to estimate the dependent variable.

C. The estimated variable is called the dependent variable.

D. The sum of the squares of vertical deviations of the observed wvalues from the derived straight line is
least from those obtained from any other orientation of the said straight line.

Choose the correct answer from the options given below:

1. Aand B only

| ]

.B. C and D only
3.A Cand D only
4. A.Band D only

Options :

686340157181. 1
686340157182. 2
686340157183. 3
686340157184. 4

Question Number : 96 Question Id : 68634039796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG YA O GEid MY Ty UieU oYl el dUHl &1 UgdaH &1

A oI el a1 ¥ sradifbd gedl & SedieR fa=e &1 g Y gl g

B. YT =R &1 SHEH aHI H4d 76l 5|

C. SEI-d 9= D1 g1 SA1%T =R Hel ol |

D. T Siel @1 ¥ fadifrd Hedl & FHealeR [dae & aviil &l OrT, s Hieh 3@ & 3
SR & W i ¥ BH el ol

= fau e fomed! ® 9 el IR & 90 PIfo:
1. ®ad A 3R B
2. T B. C HRD
3.Pad A, C 3R D
4. $aAA,BIHRD

Options :
686340157181. 1



686340157182. 2
686340157183. 3
686340157184. 4

Question Number : 97 Question Id : 68634039797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the statements about measures of central tendency and dispersion carefully and identify the correct
statements.

A, Mean deviation is always calculated from mode only.

B. Value of mean deviation 1s not based upon all the items (observations) of the data.
C. Variance 1s defined as the arithmetic mean of the squared deviation from mean.
D. Varance 1s not normally used as a descriptive measure.

Choose the correct answer from the options given below:

1. A and B only

[

.Aand C only
3.Band D only
4. C and D only
Options :
686340157185. 1
686340157186. 2

686340157187. 3
686340157188. 4

Question Number : 97 Question Id : 68634039797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157185. 1
686340157186. 2
686340157187. 3
686340157188. 4

Question Number : 98 Question Id : 68634039798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are Nonsystematic distortions in digital images?

A.Roll
B. Pitch
C. Yaw
D. Scan skew

Choose the correct answer from the options given below:
1.LA.Band C
22A.CandD
3.A,Band D

4. B.CandD

Options :

686340157189. 1
686340157190. 2
686340157191. 3
686340157192. 4

Question Number : 98 Question Id : 68634039798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 H G 1 4l st uiaieri # sroualyd fagpiaai 82
AT
B. o=
C. Ul (Yaw)
D. ¥ ¥,
- fau e famedl & 9 9 S9gad S0 & 99 ST
1. PId A, B 3R C
2.Pad A, C 3R D
3. %4 A, B 3R D

4, BIAB.C 3R D

Options :

686340157189. 1
686340157190. 2
686340157191. 3
686340157192. 4

Question Number : 99 Question Id : 68634039799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Data) L.IST I1 (Representation Methods)
A |Distribution of population of different states| . |Spheres
B. |City-wise population II. |Choropleth
C. District-wise land use 1T, [Dots
D. [District-wise density of population IV, |Pie-charts

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV

| B

. A-IL B-1. C-IV. D-III
3. A-II, B-1. C-IV. D-II
4. A-IV, B-1I, C-1I1, D-I

Options :

686340157193. 1
686340157194. 2
686340157195. 3
686340157196. 4



Question Number : 99 Question Id : 68634039799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 gl 11 9 e S

AT T 11
(P 2) CERCAGITRD)
I

A_ [faftrs Tl & S5 & fdaeu] L [iary (Spheres)
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D. [[SaR S8 99 Iv. [arg =

frrafeiad faeal & 9 96 I &1 984 S -

1. A-I, B-II. C-IIL. D-IV
2. A-IL B-1. C-IV. D-TII
3CACIL B-1L C-IV. D-II
4. A-IV. B-11. C-111. D-1

Options :

686340157193. 1

686340157194. 2

686340157195. 3
686340157196. 4

Question Number : 100 Question Id : 68634039800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Errors in GIS) LIST 11 (Characteristics)
A |Overshoot I. [Failure to connect the node to the object it was supposed to be connected to.
B. |Undershoot 11, JAdjacent lines between polygons are digitized more than once.
C. |Sliver polygon II1. [Which occur where a line connects with stself.
D. [Pseudo Nodes IV [Node going bevond the entity it 1s supposed to connect to.

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-1, D-II1

| B

CA-TV. B-III, C-1. D-I1
3. A-IL B-I. C-IIL. D-IV
4. A-IV. B-1. C-II. D-III

Options :
686340157197. 1



686340157198. 2
686340157199. 3
686340157200. 4

Question Number : 100 Question Id : 68634039800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 gt 11 9 faH s
T I
(.oms.uE. ® 3R (Frdraam)
A |eifaEA I [A1S (Node) &I o QuTidd a& 4 wils-l 4T 39 Sis- | [dweadi|
B. |3eiTe 1L [SEYST &1 Had @13l & U J S1ud aR Hihd (Sriege) 8l 5|
C [FEaagyy |11 [g a8l °ied el &, Siel Ush w1 ¥4 Y el oSl o
PEEES V. [H1E @1 9= drell GH1idd a5 § 31 Sl
fafeiiad faeedl & I 98t 3R &1 984 HIfu :

1. A-IL. B-IV. C-1. D-III
2. A-IV, B-III. C-I, D-II
3. AL B-1. C-IIIL. D-IV
4. A-IV. B-1. C-II. D-III

Options :

686340157197. 1

686340157198. 2

686340157199. 3
686340157200. 4



